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1. REHEHERE O
(1) FEH I A
ZHMARE 20, 000 20, 000 0
SHEE 4, 654, 000 4,672, 000 A 18,000
TR R=E 1, 404, 000 1, 422, 000 A 18,000
ERZPRE 3, 250, 000 3, 250, 000 0
BEUNIE 13, 000, 000 13, 000, 000 0
(BT E 13, 000, 000 13, 000, 000 0
g LA e 36, 600 36, 600 0
BHERME R SR 30, 000 30, 000 0
FESMIXERBRTLEGE 6, 600 6, 600 0
MR EE 3,000 50 2,950
= BFILE 3, 000 50 2, 950
HEN 0 0 0
BEINIEE 17, 713, 600 17,728, 650 A 15,050
(2) #w#EH
EXE 17, 948, 000 17, 351, 000 597, 000
(BTG E 15, 600, 000 15, 400, 000 200, 000
faEFY 207, 500 207, 500 0
SRE 340, 000 354, 000 A 14, 000
BB 96, 000 80, 000 16, 000
BRE 500, 000 300, 000 200, 000
B A B 30, 000 30, 000 0
B EE 150, 000 120, 000 30, 000
JHFELE 160, 000 100, 000 60, 000
S A2 100, 000 100, 000 0
XENFHCE 120, 000 120, 000 0
HELGE 219, 500 219, 500 0
R EALORBRE 25, 000 20, 000 5, 000
ABAFR 40, 000 40, 000 0
HEBS Y& 360, 000 260, 000 100, 000
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= 2,023, 500 1, 458, 500 565, 000
feEFY 467, 500 227, 500 240, 000
SRE 530, 000 366, 000 164, 000
BB 24, 000 20, 000 4, 000
& EE 50, 000 50, 000 0
5 = 100, 000 100, 000 0
JHFEMLE 160, 000 70, 000 90, 000
S A2 90, 000 90, 000 0
XENFHCE 15, 000 15, 000 0
HELGE 200, 000 200, 000 0
WL E 70, 000 70, 000 0
XA HEE 317, 000 250, 000 67, 000
BEER 19, 971, 500 18, 809, 500 1,162, 000
LERREIEREE A 2,257,900 | A 1,080,850 | A 1,177,050

2. RESMEHOE
(1) #EH I A 0 0 0
(2) #EH I 0 0 0
LEARRE MG REE 0 0 0
L HA — % IE LR BA EE LR R B A 2,257,900 | A 1,080,850 | A 1,177,050
— AR ERBIEHEZS 3,736,117 2,223, 899 1,512,218
—RRIEBREAE I RIE S 1,478, 217 1,143,049 335, 168

fEAN&FREE%E 1, 200, 000
BB A A 600, 000
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